Reading and Composing Skills Test 

Post-test A
Directions for items 1-12:  Each passage below is followed by questions based on its content.  Answer all questions following a passage on the basis of what is stated or implied in that passage.

Questions 1-2 are based on the following passage.

In the 1960’s Hispanic groups in the United States began to work more actively to overcome inequalities. Their efforts were often focused on regional issues because Hispanic groups of different heritages tended not to concentrate in the same parts of the nation. One of the most successful of these regional efforts occurred in California, where in 1962 César Chávez began a movement to unionize the California grape pickers, most of whom were Mexican Americans, or Chicanos, as younger activists were coming to call themselves. Chávez believed that a strong union would help migrant workers gain better working conditions and higher wages. Adopting a nonviolent strategy, Chávez sought popular support by organizing sit-ins and protest demonstrations. During the late 1960’s, Chávez organized a nation-wide boycott of table grapes that forced an increasing number of growers to accept the union by 1970.
1.
According to the passage, César Chávez used all of the following in his efforts on behalf of migrant workers EXCEPT

(A)
unionizing grape pickers

(B)
organizing protest demonstrations

(C)
training national Hispanic leaders

(D)
adopting a nonviolent strategy

2.
According to the passage, the efforts of Hispanics to overcome inequalities were mainly regional because

(A)
César Chávez worked throughout the south-western United States

(B)
Hispanics of different heritages generally lived in different parts of the country

(C)
it was difficult to gain nationwide attention

(D)
Hispanic people in industrial urban areas were already unionized

Questions 3-6 are based on the following passage.

Line

Every day we trust zippers with our modesty and our money, and we also expect that they will never let us down. For over 100 years, this marvel of American ingenuity has been holding us together, changing the way we dress, and hurrying us along. A primitive zipper, composed of hooks and eyes instead of teeth, first appeared in 1893, invented by a Chicago machine salesman. The precision combination of teeth-and-slider that we know today was patented in 1917 by an electrical engineer, whose major investors included actors who foresaw faster costume changes for stage performers. Reflecting society’s desire for ease and speed, the zipper has grown to such popularity that it is now part of the fabric of our lives. Today groundskeepers zip up artificial turf on base-ball fields; car manufacturers zip together bucket-seat upholstery; and we fasten our blue jeans, close our gym bags, cinch up our jackets, and dash out the door.

3.
The passage suggests that Americans use zippers because

(A)
zipper technology was invented in the United States

(B)
Americans are very clothes-conscious

(C)
speed and efficiency are hallmarks of the American way of life

(D)
there is no real alternative method of fastening

4.
In the first two sentences, the author establishes a

(A)
scholarly and formal tone by citing historical events

(B)
skeptical and cautionary tone by noting potential mishaps

(C)
neutral and objective tone by employing technical terminology

(D)
light and humorous tone by using phrases with double meanings

5.
As a figure of language, “we trust zippers with our modesty and our money” (line 1) is most like which of the following?

(A)
Laughter ran through the audience.

(B)
He’s not the sharpest knife in the drawer.

(C)
She took my advice and my car keys.

(D)
I literally died when they called me and told me.

6.
The passage says that zippers have become

(A)
a common and ordinary part of our existence

(B)
more and more simplified in their construction

(C)
the safest way to protect valuables

(D)
the strongest method for holding cloth together

Questions 7-9 are based on the following passage.

Before the eighteenth century, there were no accurate and reliable records of the world’s population. Figures offered by historians are uncertain, frequently conflicting, and based on limited data; moreover, statisticians working from the same data can draw varying conclusions. Consequently, we may never have precise and widely accepted population estimates for earlier times.

7.
The passage suggests that

(A)
the statisticians are trying to disprove the historians’ estimates

(B)
the statisticians have no confidence in the conclusions that they draw

(C)
a given set of figures can yield different statistical conclusions

(D)
there are different population estimates for different parts of today’s world

8.
The passage suggests that the population estimates would be more reliable if historians

(A)
based their work on more recent data

(B)
had more complete data available to them

(C)
worked more cooperatively with statisticians

(D)
were more convinced that the effort was worthwhile

9.
The passage makes which of the following points?

(A)
Statisticians disagree with historians about how best to make population estimates.

(B)
Different research methods are used by researchers in different fields.

(C)
The world population of several hundred years ago has not yet been determined.

(D)
The world population before the eighteenth centuries was smaller than previously believed.

Questions 10-12 are based on the following passage.

Exclamation marks are annoying. “Look!” they say. “Look at what I just said! How amazing is my thought!” It is like being forced to watch someone else’s small child jumping up and down crazily in the center of the living room shouting to attract attention. If a sentence has something of importance to say, something quite remarkable, it doesn’t need an exclamation mark to point it out.
10.
The writer describes the behavior of the small child in order to

(A)
indicate that children enjoy using exclamation marks

(B)
highlight the idea that exclamation marks are unpleasant and distracting

(C)
recommend an effective strategy for gaining the audience’s attention

(D)
reveal the writer’s dislike of small children

11.
The writer’s attitude toward exclamation marks is that they

(A)
can be effective only if used consistently

(B)
should be viewed as optional

(C)
are bothersome and unnecessary

(D)
help the reader not to miss anything essential

12.
The last sentence in the passage serves to

(A)
offer an explanation of why writers overuse the exclamation mark

(B)
emphasize the importance of having something remarkable to say

(C)
demonstrate the remarkable function of the exclamation mark

(D)
suggest that significance is best conveyed through content

	Directions for 13-16:  For each of the following questions, choose the best word or phrase to substitute for the underlined portion containing gliff, a nonsense word.
Example:

Though Mr. Rivera is a gliff man and could live anywhere he chooses, he still lives in the small house in which he was born.

(A) an unhappy
(B) a wealthy
(C) an ambitious
(D) a strong


13.
The difference between a very severe sprain and a broken bone cannot be gliffed without x-rays, even by an orthopedic surgeon.

(A)
treated

(B)
cured

(C)
detected

(D)
described

14.
Sojourner Truth, herself a freed slave, was an early gliff of both women’s rights and emancipation.

(A)
mentor

(B)
protester

(C)
presenter

(D)
advocate

15.
Because Charlotte and Bob are the most gliff people I know, I suspect that they will never be content.

(A)
competent

(B)
relaxed

(C)
unassuming

(D)
ambitious

16.
Only crises ADVANCE \r 1.8 — ADVANCE \r 1.8 natural disasters, shocking social injustice, war ADVANCE \r 1.8 — ADVANCE \r 1.8 seem able to draw us out of our self-centeredness and into gliff for the common good.

(A)
conflict

(B)
concern

(C)
nostalgia

(D)
speculation

Directions for items 17-20:  In each of the following questions, the two underlined sentences have an implied logical relationship.  Read each pair of sentences and the question that follows, and then choose the answer that identifies the relationship.
17.
Until recently, information about women artists was often not available.

Older editions of one of the most popular art history textbooks do not mention any female artists.

In relation to the first sentence, what does the second sentence do?

(A)
It states an opinion.

(B)
It makes a generalization.

(C)
It provides an example.

(D)
It offers contradictory evidence.

18.
Hard times bring out the best in people.

Economic hardship makes people selfish and suspicious.

In relation to the first sentence, what does the second sentence do?

(A)
It provides a contrasting opinion.

(B)
It offers a possible explanation.

(C)
It gives a persuasive example.

(D)
It states a likely consequence.

19.
Medieval peasants were beset by war, weakened by malnutrition, and exhausted by the struggle to earn a living.
They were easy prey for the dreaded Black Death.

In relation to the first sentence, what does the second sentence do?

(A)
It presents an exception.

(B)
It offers an example.

(C)
It justifies a prediction.

(D)
It states a consequence.

20.
Children average about six hours of television viewing a day.

A typical adult watches three to four hours of television daily.

In relation to the first sentence, what does the second sentence do?

(A)
It draws a conclusion.

(B)
It gives supporting evidence.

(C)
It presents a contradiction.

(D)
It provides a comparison.

	Directions for items 21-25:  The following questions require you to rewrite sentences in your head.  Each question tells you exactly how to begin your new sentence.  You should then select the answer choice that allows you to complete the best new sentence.  Your new sentence should be clear and concise; it should have the same meaning and contain the same information as the original sentence.

Example:
The student senate debated the issue for two hours and finally voted down the resolution.

Rewrite, beginning with

Having debated the issue for two hours, . . .

The next word or words will be

(A) the issue

(B) it

(C) the student senate

(D) a vote


21.
The American leopard is a powerful animal that wandered as far north as the Carolinas in the days before the European settlers.

Rewrite, beginning with

The powerful American leopard . . .

The next words will be
(A)
in the Carolinas

(B)
wandered as far north

(C)
that in the days

(D)
before the European settlers

22.
Eddie failed his driving test yesterday because he forgot the hand signal for a right turn.

Rewrite, beginning with

By . . .

The next words will be

(A)
failing his

(B)
forgetting the

(C)
yesterday Eddie

(D)
the hand signal

23.
There may not be as much fact as fable in the story of Cleopatra.

Rewrite, beginning with

The story of Cleopatra may be . . .

The next words will be
(A)
more in fable

(B)
less factual than that of

(C)
rather than factual

(D)
more fable than

24.
We know what causes earthquakes, but we still cannot predict when the next one will occur.

Rewrite, beginning with

Although . . .

The next words will be

(A)
we know

(B)
the next

(C)
earthquakes are caused

(D)
the prediction of

25.
The ability to laugh does not develop until children are about five months old, whereas the ability to shed tears emerges sometime between the second week and the twelfth week after birth.

Rewrite, beginning with

Sometime between the second week and the twelfth week after birth, . . .

The next word or words will be

(A)
children

(B)
when children

(C)
when crying

(D)
to be able

	Directions for items 26-30:  In each of the following questions, select the best version of the underlined part of the sentence.  Choice (A) is the same as the underlined portion of the original sentence.  If you think the original sentence is best, choose answer (A).

Example:

Ancient Greeks ate with their fingers, wiped them on pieces of bread, and tossed them to the dogs lying under the table.

(A)
tossed them

(B)
tossing them

(C)
tossed the bread
(D)
they tossed


26.
The increase in the local population, which doubled over the last ten years, making it necessary to build a new hospital.

(A)
making it necessary to build

(B)
made it necessary to build

(C)
and made it necessary to build

(D)
thus necessitating the building of

27.
The research company has apparently given up its earlier position and is now interested to acquire technical expertise toward the development of solar energy.
(A)
to acquire technical expertise toward the development of

(B)
in acquiring technical expertise for the development of

(C)
that it should acquire technical expertise in developing

(D)
for it to acquire technical expertise in developing

28.
Many people think that Honolulu is on the big island of Hawaii, but it is actually on Oahu, a much smaller island.

(A)
but it is actually on Oahu,

(B)
instead of actually being located on Oahu;

(C)
but located on Oahu, actually, which is

(D)
instead of which it is actually on Oahu,

29.
A word, if it is misspelled and occurs the same way throughout a text, the word processor can correct each instance of that spelling error in a single operation.

(A)
A word, if it is misspelled and occurs

(B)
If a word is misspelled

(C)
In misspelling a word that occurs

(D)
When there is a misspelled word

30.
The San Francisco Bay Area has a long history of military fortifications, beginning in 1794 with Spanish adobe forts and continues with concrete missile silos to the 1950’s.
(A)
beginning in 1794 with Spanish adobe forts and continues with concrete missile silos to the 1950’s

(B)
from adobe forts built by the Spanish in 1794 to concrete missile silos built in the 1950’s

(C)
when the Spanish built adobe forts in 1794 and concrete missile silos were built in the 1950’s

(D)
which started with Spanish adobe forts in 1794 to the 1950’s, with concrete missile silos

Directions for items 31-36:  Each of the following questions presents a passage with a missing sentence indicated by a series of dashes.  Read each passage and the four sentences that follow it.  Then choose the sentence that can best be inserted in place of the dashes.
31.
-------. Personal possessions are limited to what they can carry and what is necessary for hunting and food-gathering. They do not build permanent homes but rather use caves, tree roots, or leafy windbreaks to provide shelter.

(A)
Social responsibilities determine what Australian Aborigines do with their belongings.

(B)
The history of the Australian Aborigines is presented in myth and legend.

(C)
The nomadic way of life of the Australian Aborigines influences their choices regarding property.

(D)
The nomadic Aborigines first came to Australia thousands of years ago.

32.
-------. In his early years Elvis built his multi-million-dollar career on his looks, his voice, and his antiestablishment style. In later years his performances produced more nostalgia than screams of delight. Yet his income from records, mementos, and appearances did not decline with this change in his appeal.

(A)
Elvis Presley, truck driver turned singer, found an enduring popularity that kept him in the spotlight for 20 years.

(B)
Elvis Presley’s death caused great mourning.

(C)
Because his music belonged to the 1950’s, Elvis Presley was no longer in public favor at the time of his death.

(D)
Elvis Presley starred in many films and sold millions of records.

33.
The video game creates a world in which success is very clearly defined. -------. They can escape from the anxieties of real life into a place where their own actions always count, where they can be winners.

(A)
Through practice, players can control this world for a while.

(B)
Consequently, video games have remained very popular.

(C)
Some players, however, find that the games are quite expensive.

(D)
Players enjoy the improved graphic quality of the newer games.

34.
Recycling has cut down considerably on the amount of trash in local landfills. -------. All of us have seen large items such as furniture, mattresses, and appliances in dumps or even discarded along roadsides. Thus our efforts to recycle paper and glass seem woefully inadequate.

(A)
In a consumer society, local government has had to plan for how to dispose of garbage.

(B)
Nevertheless, we are still a society that throws too much away.

(C)
If we are not careful, our landfills will be overflowing in a few years.

(D)
On the other hand, we have to use natural resources such as gasoline and water to recycle large items.

35.
Florida citrus growers always worry about sudden frosts from December through February. Traditionally, Florida’s weather forecasters have relied on temperature readings from relatively few locations; yet frost often strikes in small, isolated pockets. Since 1980 a weather satellite has been helping forecasters predict frost by using infrared sensors to take hourly temperature readings all across the state. -------

(A)
The satellite orbits 22,000 miles above the Earth.

(B)
The satellite’s detailed reports are far more useful than traditional weather data.

(C)
The satellite could tell the growers the best time to plant new trees.

(D)
The satellite system is still being developed to provide more detailed weather maps.

36.
In October 1975 Congress passed the Equal Credit Opportunity Act to put an end to discriminatory credit practices. This act makes it illegal for any credit agency to discriminate on the basis of sex or marital status. It does not guarantee that anyone will automatically qualify for credit. -------.

(A)
It does mean, however, that a woman’s application for credit must be evaluated in exactly the same manner as that of a man.

(B)
In addition to the Equal Credit Opportunity Act, Congress passed several other bills during 1975.

(C)
Nevertheless, establishing a good credit record is an important step for anyone.

(D)
Eventually we will all be faced with the problem of obtaining credit.

	Directions (for Supporting Sentence, 37-40):  Each of the following questions presents a topic and four sentences.  Select the sentence that provides the best support for the topic presented.

Example:

Many people who have extensive collections become extremely knowledgeable about what is in them.

(A)
Collecting sculptures and paintings can be an expensive hobby, even for very wealthy people. 

(B)
Chester Nakamura became an expert on samurai swords by researching his own collection.

(C)
Sara Johnson’s private collection of rare books is so extensive that she had to add a large library to her home.

(D)
Doing something and knowing about it are two different things.


37.
Abundance, not scarcity, best describes the world’s food supply.

(A)
Enough wheat, rice, and other grains are produced to provide every person with more calories per day than are needed.

(B)
Calorie intake is only one way to measure a person’s daily nutritional requirement.

(C)
Some parts of the world are plagued by food shortages and even famine.

(D)
Different parts of the world rely on different plants and animals as food sources.

38.
Carefully following fire-prevention steps helps protect many homes in the dry West from wildfires.

(A)
The West has some of the most beautiful open land in the country, but it also has a large number of wildfires each year.

(B)
Losses due to fire are increasing as people build in canyons and other remote areas that are hard for fire departments to serve.

(C)
Homeowners can reduce the risk of fire by cutting grass away from structures and using fire-retardant building materials.

(D)
Homeowners can often get a discount on their insurance by installing smoke detectors and prohibiting smoking in the house.

39.
The automobile industry hopes to increase the sales of luxury cars by advertising their technical improvements.

(A)
It will emphasize improved gas mileage, front-wheel drive, and fuel injection.

(B)
It makes larger profits on gas-guzzlers than on economy cars.

(C)
It realizes that younger drivers want the contemporary look of the new models.

(D)
It will offer the sunroofs and wide-track appearance that everyone likes.

40.
Sometimes hobbies can provide a good source of income.
(A)
Income from hobbies is taxable, according to the Internal Revenue Service.

(B)
Many people have made their hobbies their livelihoods.

(C)
Sometimes a job may become a hobby.

(D)
Hobbies are good diversions.
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